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=

BC=J(0-4)" +(3-0) =5

CD =/(10-4)’ +(8-0)" =10

Area of ABCD = area of trapezium
= Ya(sum of parallel sides) x height

= (s+121)(10)

=87+ square units

OR

BC=(0-4) +(3-0)" =5

CD=(10-4)"+(8-0)* =10
Area of ABCD = area of rectangle + arca of triangle
=((xb)+(Lbh)

(5x10)+] £x10x(121-5)]

=87+ square units

OR

BC=/(0-4) +(3-0) =5

7}

CD=J(10-4) +(8-0) =10

Area of ABCD = area of ABCD + area of AABD
= (4%5x10 )+ [4x(154-3)x10]
=25+ 621

=874 square units

v length of BC
v’ length of CD

v formula
v substitution 0f(5+12%)

v substitution of 10
v’ answer (6)

OR

v’ length of BC

v length of CD

v substitution of (5x10)
vV [4x10x(124-5)]

v' answer (6)
OR

v length of BC

v’ length of CD

v ($x5x10)
v 7 [1x(154-3)x10]

v answer (6)

[18]
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2.8

m,, =tan 108,43’

Equatior?ofAD:
V=—3k+¢
Substitute (5;0):
0=-3(5)+c
e=15
y=-3x+15

Solve simultaneous equations for AC and AD:
2p—§=—Bu+15

v gradient of AD

v substituting (5 ; 0)

v equation of AD

v’ solving simultaneously

Sx=20
ek v value of x
y=3 v value of y
A(4;3) (6)
OR OR
DM = AM
=BM [sides opposite equal angles] v DM=AM=BM = /5
- 5
AB=AD
= J10 [Theorem of Pythagoras]
AB=AD
\/(x—])z_g-();_?_)z 2\/(_’\_’—5)24»(},—0)2 v \/(x7!)7+(y72)*
¥ =2x 414" —dy+d=x" —10x+25+ )" =\/(.r—5)2 +(y—0)
8x—4y =20
Y= 2% 5, Titiad v simplification to y =2x-5
AD =410
Je=5) +(r-0) =0 Js) (o) =40
X =10x+25+y" =10 oo, line 2
¥ =10x+25+(2x—5)" =10
X' =10x+25+4x" =20x+25=10
5x* —30x+40=0
X' —6x+8=0
(x—4)(x-2)=0
x=2orx=4 v x =4
N/A
v=3 v y=3
(6)
[26]
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4.1.1

(sinx—cos )f)2 us]

. ¥
sin” x —1
sin“ x—2sinxcosx+cos” x—1

» 2
sin” x—1

. .2 2
—-2sinxcosx+sin” x+cos x—1

sin® x—1
—2sinxcosx+1—1
—(1 —sin’ x)

-2sinxcosx

v multiplying out

v applying identity
sin” x+cos* x =1
v —(l—sinzx)

v  applying identity

—cos’ x 1 —sin’ x =cos’ x
2sin x
" cosx v simplification
=2tan x ()
412 | gin*x-1=0 v sin"x—=1=0
sin’ x =1
sinx=—-1  or sinx=|
xr=270" or x=90° v 270"
v 90"
3)
4.2

tan(3x+ 40 ) =—]

reference angle: 45

3x4+40° =180"—45" +1.360" or 3x+40" =360"-45" +n.360°

3x=275 +n360
x=91,67 +n.120°
x=-28 3%

3x =95 +n360°
x=3L67 +nl120°

x=-88,33 or 31,67°
where ne Z

OR

3x+40" =180"—45 + n. 180
3x=95"+n.180
x =81,67"% nb0°
x=-88,33" or —28,33" or 31,67

where ne 7

v 3x+40° =180" - 45" +n.360°
v

3x+40° =360" —45" +n.360°

v -88,33"
V31,67
v -28,33° (5)

OR

v 180" —45°
v +1n.180°

v 88,33
v’ 31,67
v 28,33
)
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